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Verstrichene Zeit finden Name:
Bestimme die verstrichene Zeit fur jede Aufgabe. Antworten
Bsp) 7:45 + 1 Std. und 50 Min. = 9:35
Bsp. 1Std.und 50 Min.
1) 2:05 + = 535 .
2) 350 + = 6:30 ,
3) 500 + = 7:25 ,
4) 1:25 + = 445 A
5 105 + = 310 .
6) 345 + = 450 .
7) 150 + = 5.05 .
8) 120 + = 4.05 N
9) 5145 + = 820 N
10) 610 + = 9:.05 .
11) 635 + = 840 "
12) 2:15 + = 4:35 12.
13) 745 + = 9:10 13.
14) 445 + = 815 14.
15) 1:30 + = 445 15.
16) 4:40 + = 6:45 16.
17) 545 + = 6:55 17.
18) 2:45 + = 4.00 18.
19) 545 + = 6:50 19.
20) 5:30 + = 845 20.
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Verstrichene Zeit finden Name: L Osungsschliussel
Bestimme die verstrichene Zeit fur jede Aufgabe. Antworten
Bsp) 7:45 + 1 Std. und 50 Min. = 9:35
Bsp. 1Std.und 50 Min.
1) 2.05 + 3 Std. und 30 Min. = 5:35
1. 3 Std. und 30 Min.
2) 350 + 2 Std. und 40 Min. = 6:30 _
2. 2 Std. und 40 Min.
3) 5:.00 + 2 Std. und 25 Min. = 725 _
3. 2 Std. und 25 Min.

4) 1. . in. = 4

) 1.25 + 3 Std. und 20 Min 4:45 . 3 std. und 20 Min.
95 1 i = 3 .

) 1:.05 + 2 Std. und 5 Min. 3:10 . 2 Std. und 5 Min.
6) 345 + 1 Std. und 5 Min. = 4:50 6 1 td. und 5 Min.
7) 1:50 + 3 Std. und 15 Min. = 5:05 . 3 std. und 15 Min.
8 1:.20 + 2 Std. und 45 Min. = 4:05 6 2 std. und 45 Min.
9) 545 + 2 Std. und 35 Min. = 820 o 25 und 35 Min.
10) 6:10 + 2 Std. und 55 Min. = 9:05 10. 2 Std. und 55 Min.
11) 6:35 + 2 Std. und 5 Min. = 840 11 2Sd.und 5 Min.
13) 7:45 + 1 Std. und 25 Min. = 910 13. 1 Std. und 25 Min.
14) 4:45 + 3 Std. und 30 Min. = 815 14. 3 Std. und 30 Min.
15) 1:30 + 3 Std. und 15 Min. = 4:45 15. 3 Std. und 15 Min.
16) 4:40 + 2 Std. und 5 Min. = 6:45 16. 2 Std.und 5 Min.
17) 545 + 1 Std. und 10 Min. = 655 17. 1 Std. und 10 Min.
18) 2:45 + 1 Std. und 15 Min. = 4:.00 18.  1Std.und 15 Min.
19) 545 + 1 Std. und 5 Min. = 6:50 19. 1Std.und 5 Min.
20) 5:30 + 3 Std. und 15 Min. = 845 20. 3 Std. und 15 Min.
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